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Haryana Staff Selection Commission
Evening Session, 02.01.2018
Post :- Tehsil Welfare Officer

What is the rank of India in World Happiness Report 2017 ?

(1) 112th (2) 122nd
(3) 98th (4) 131st
from gofiae R 2017 HF AR FTEF FATE 2

1) 112at 2) 1227t
(3) 98at 4) 131t

Difference between real GDP and nominal GDP is

(1) Change in price level from base year to current year
(2) Change in price level from current year to base year
(3) Excluding some of the sectors in calculation

(4) Nominal GDP is always smaller than real GDP
FTEATaT GDP ¥ ATHATT GDP & i siav &

(1) e ad | 97 a9 T HIHd &7 H gEaqra

(2) AT H AYW I | o &< § qaad

(3) VAT H Fg ST AT GIEHT

(4)  sraETT GDP gRerm areafa® GDP & greT gar 2 |

In consumption function C=a+ bY, b =

(1) Marginal propensity to save (2)  Autonomous consumption
(3) Autonomous savings (4)  Marginal propensity to consume
STARNTFATH C=a+bY, b=

(1) =T T=a yghkr (2) wETIT EUq

(3) w=EETEEd (4)  HETT ITANET TG

TRIPs is associated with-

(1)  Property rights (2) Intellectual property right
(3) Clothing and textile (4)  Agricultural products
TRIPs f3&® 912 J[ET e 8 ?

(1) =l st (2) atfEs wufx e

(3)  FUST 3T THEETA (4)  FfT TR

The rate at which RBI borrows loan from commercial banks is known as-

(1) Repo Rate (2)  Cash Reserve Ratio
(3) Statutory Liquidity Ratio (4)  Reverse Repo Rate
5 37 9% RBI, ATOrST Sl K0T AdT ¢, 39 Fgd &

(1) ™= (2) 7T AT AT
(3) ST qTerar SguTa (4) REdre

An increase in a consumer’s income causes the consumer to decrease his quantity demanded of
a good, then the good is
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(1) A complementary good (2)  Aninferior good

(3) Aluxury good (4) A substitute good
ITATTHT T 3T F FEIALT o FTLOT STHTTHT Tohel T e sl |TAT =l TRT H FHH T FaT g, T a8 a50 &
(1) TThaEg 2) Fe=imag

(3) fa=mtEaraeg (4)  wfaeTIe awg

Who has been appointed as the chairman of the 15th finance commission ?
(1) N.K.Singh (2)  Y.V.Reddy

(3) C.Rangrajan (4)  Rakesh Mohanty
153 fa ST o s7eed o &9 § forer fogen feram aram 2

(1) A fife (2) A

(3) # T (4)  TToReT HIgAT

“The wife is not the husband’s bonded slave... she is as free as the husband to choose her own
path.” “Who said this ?

(1)  B.R.Ambedkar (2)  Mahatma Gandhi
(3) Sardar Patel (4)  Raja Rammohan Roy
‘O T Ot T L ITET AR & ... g T T g ATAT TEaT I & (o0 &0 g |7 e ag Fgr ar ?
(1) T sweaEET (2)  wETHT MY

(3) @RI (4) TS THHATEA T
Who has written the book: ‘Legitimation Crisis’ ?

(1) Max Weber (2)  Jurgen Habermas
(3) Bertrand Russell (4) Thomas Paine
ASTTEHI TS EE Teah e fordt ?

(1) #FFFaT (2) NI gEEETH

(3) T (4) FtHE I

What regularised the sexual relations of men and women ?

(1) Class (2) Caste

(3) Religion (4) Marriage

TEUT S AT F A "aey o e At G 2

(1) = (2) S

(3) =¥ (4) fEmE

The socialisation of every individual is basedon

(1) Family (2)  Nation

(3) State (4)  Religion

THF AT ATAASERLT G eTa g |

(1) =fEr (2) g

3) T @) e«

Who was the chairperson of the drafting committee of the Constitution of India ?

(1) B.R. Ambedkar (2)  Jawaharlal Nehru
(3) Sardar Patel (4)  C.Rajgopalachari
qTeq o g & areT afafa 7 sreaer Fie o7 ?

(1) e sieeaT (2) STETETATT Ag®

(3) #WERWUA (4) = TSRy
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What was the child population in the age group of 0-6 in India in 2011 ?

(1) 13.59% (2) 24.54%
(3) 28.64% (4) 15.87%
2011 & ATEd & 0-6 T AT a1 | g1 6T Ararar F#47 °fF 2

(1) 13.59% (2) 24.54%
(3) 28.64% (4) 15.87%

What was the child sex ratio in the age group of 0-6 in India in 2011 ?

(1) 876 (2) 919
(3) 567 (4) 897
2011 & 9T # 0-6 T o S A o6 AT o1 ST 47 AT ?

(1) 876 (2) 919
(3) 567 (4) 897

“Varna has nothing to do with caste.” — Who said this ?

(1) Jawaharlal Nehru (2)  Sardar Patel
(3) Mahatma Gandhi (4) Lokmanya Tilak
“Fof T AT & FTE AAT-2AT Tl & | FFae a8 Fgr o7 ?

(1)  SHETETTT qEw (2) "wEETEA

(3) wETHT R (4)  ArwHT e

For what the certificate is being given by the Gram Sabha in the tribal areas ?

(1) Expenses for social development

(2) Expenses for economic development

(3) Expenses for infrastructural development

(4)  All of these

STSTTC T 8031 | U1 A7 g1 JAor e forg e s w=r g 2

(1)  =TETE e F o g (2)  stde faw F o ==
(3) T ztaT fFwm & o a= (4) TR
Who is included in the civil society according to the World Bank ?
(1) NGOs (2) CBOs

(3) Charity organisations (4)  All of these
Fored 5 & SIqaTe AT qoTs § T et T sran g 2

(1)  uesher (2) =

(3)  URITRTEY Tt (4) Tasfr
What is the role of civil society ?

1. It is working as a watchman over market and the state.

2. It makes the market and the state transparent.

3. It creates awareness about the challenges the society faces.
4, It advocates change in the society.

What is true from the above ?

(1) 3,4 2) 1,2

) 1,234 4) 1,34
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AT |7t 6T T F7 8 2

1. I FI9TE AT ST T ARG & & § FHTH FAT g |
2. I AT M T Ff qREei aAT 3ar 2 |

3. I FETS A AMAAT & I H TEEHAT 92T Fam @ |
4. g GHTS § TEATH Hl FHTAd FLAT S |

ITOFT H T FATHA G ?
(1) 3,4 (2) 1,2
(3) 1,234 (4) 1,34

What is included in the civil society ?

(1) Consumer Protection Agencies (2) Community-based Organisations
(3) Trade Unions (4)  All of these

AT THTST § AT 9T 8 2

(1)  SOTFaT S2eroT STferaRor (2)  HATHETREE "eam

(3) afF=wmEw 4) Tasfr

Who has first developed the method of Report Card for the public services in India ?
(1)  Public Affairs Centre (2)  VANI

(3) MKSS (4)  Parivartan

a1 | Arasti= qarst o forw foqre s i fafdr v e aew ggo wfEa G g 2

(1) =TT g9t & Feg (2)  VANI

(3) MKSS (4) fEaT

Treatment in social case work involves

(1) Counselling and questioning

(2)  Environmental modification and counselling

(3) Counselling, environmental modification and administration of social services
(4) Administration and management of social services

AT (Ao F:718 § FI9 F ITATT ATHA &2

(1) Tt 3T IEaTe

(2)  TITECOT HOE ¥ qeTHet

(3)  T¥THeT, TATILOT HOL < ATHTISI AT T TATET

(4)  HATHTSTR HATSA AT TIATET ST Tae=

Research is

(1)  Searching again and again for social solutions to economic problems
(2)  Finding solution to any kind of social and economic problem

(3) Working in a scientific way to search for truth of any problem

(4)  Working for a social cause and generating social consciousness

AHETT FT S ?

(1) i Fwearsit F arartors TareT F o A @ #7T
(2) e ofF s Y AT S st aHeAT T gt fMeRTer)
(3) ot oft mrweaT it wgs & forw S=iaen aEeh &/ T F

(4) =TI FTOT 3 forT T AT Y ATHTSIE Jq=T TaT FEAT |

Which of the following is the first step in starting the research process ?
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(1) Searching sources of information to locate problem.
(2)  Making a hypothesis

(3) Problem solving methods

(4) Identification of problem

e 5 & &1 97 e ST 9% FEA H TgAT FEH § 2
(1) =T FT 947 A0 % o7 ATt o S0 @rorr |
(2) ufeTar REtor

(3) THEATU g FTA % qLIh |

(4) THEET Y UgEE

A common test in research demands much priority on

(1)  Reliability and objectivity (2)  Only Usability

(3)  Only Objectivity and usability (4)  Obijectivity, usability and reliability
FTEIT | HATHTT qLET & for srerfeenar it aiv #4782

(1) Teregaiaar ofiT aeqassar (2)  Fae =T

(3) FEw FESEAT ST TFTSAAT (4)  FEqiesar, YASAAT S fregastaar

Action research means

(1) Alongitudinal research

(2)  Anapplied research for all fields

(3) Avresearch initiated for long-term social problems such as untouchability
(4) Avresearch to solve the immediate problem

uFeE A FT AT B

(1) T AR e

(2) =T &= forT U SAguren dEeT

(3)  STEqeFAT ST ATHFTIor ATHTISIS THEATSA % folT §[& faraT T srqeem
(4)  TTCHTTIS THEAT T g FIA & (o0 T ATHETT

A reasoning where we start with certain particular statements and conclude with a universal

statement is called

(1) Deductive Reasoning and inference drawing

(2)  Inductive Reasoning

(3) Reasoning with care

(4) Transcendental meditation and reasoning

T T STE1 gH T T e 3 AT 0% Fd 5 ¥ Uk qraw {19 HI9 & 97 THE gl g
(1) AT T s A fAereET (2)  HARTHATHS THUT

(3) T@WTe Afgd T (4) I AT AT TR

Which of the following variables cannot be expressed in quantitative terms ?

(1)  Socio-economic and political Status (2)  Marital Status and number of children
(3)  Numerical Aptitude (4)  Professional Attitude and training

FAeaferferd =<0 § & 9 97 AT T&T § < Agl (AT ST 9dT 8 ?
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(1)  =TETSTER-efe & TeaeE Rl (2)  Farew Ruf s agt i "9
(3) HweETeHa stfegf (4)  FATFETEAF AT ST Froreror

The essential qualities of a researcher are

(1)  Only Spirit of free enquiry

(2)  Only Reliance on observation and evidence

(3) Theorizing of knowledge

(4) Theorizing of knowledge, spirit of free inquiry and reliance on observation and evidence

T STTerhd T o AT [T &

(1) e qaF ST i g

(2)  Fae e si arew a7 oA

(3) =T =T Argidwr

(4) ST T TRGTAwoT, o ST st T fiT Taeiehe e a1e a7 faeams

The ‘Structure of Social Action’ was propounded by:

(1)  Bertrand Russell (2)  Jurgen Habermas
(3) Talcott Parsons (4)  Radcliffe Committee
“HTHTToTR 13 Y G==1 ek grer searfag & 1s ?

(1) =z (2) NI gETHTH

(3) =TIhIE T (4)  TSFATE HHT

Mahatma Gandhi was associated with

l. Theory of trusteeship and equality
. Non-Violence and truth

Il. Imperialism and capitalism

IV.  Simple life and high thinking

(1) landllare correct. (2) I, Iland Il are correct.
(3) I, Iland IV are correct. (4) 1, 1land IV are correct.
HETeHT T Tvarfeera o

l. TR 3% FHT=AT % g

Il T e aTs

.  |ETSTETE A gshars

IV.  |Tar S sie g fa=m

(1) s ln=agrg (2)  LlsrEn g

(3) LllsiTIVasgl (4) I NIV EE g
The best known expert of the problem solving model is

(1) Tinberger (2) Perlman

(3) Bertrand Russell (4)  Kirkguard

HEAT HHTETE IS T HaH AT AT (@G0T

(1) femie (2) e

(3) =TTHA (4) fFETE

Sequential phases in the process of community organisation are :
(1) Organisational, action, exploratory, discussional phase

(2)  Action, exploratory phase

(3) Exploratory, organisational, discussional, action phase

(4) Discussional, exploratory and action phase

THETT TS T TORAT H STw T a0 &
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(1) =TT, R, SvawuTTeRs, =T JL0r
(2) AT, sawoTTeds F70T

(3)  A~AOITCH, TISATHE, TS, (AT F20T
(4) =TS, AT 3T FRaT F2or

The right sequence of the different phases in a post-disaster situation is

(1) Relief, rescue, rehabilitation and resettlement
(2)  Rehabilitaiton, relief, rescue and resettlement
(3) Rescue, Resettlement, relief and rehabilitation
(4) Rescue, relief, resettlement and rehabilitation

AT o 97 T (T Ry Rafa # Af s sragr ww 8

(1)  TEd, I9T, qAaT 3T fHead= (2) AT, TEd, AT 3T fHeTH=
(3) ==Ta, T¥eddwe, TEd oY [Hare (4) ==TE, TBd, feaHre oY A
Who propounded the concept ‘Conjugal Family’ ?

(1) Max Weber (2)  Jurgen Habermas

(3) William J. Goode (4) M. N. Srinivas

eI Rt T g e gfaarfaa a2

(1) #FFmIax (2) ST gEEHTH

(3) ffmms T (4) vgua ffae

The Government of India adopted the National Policy for Children in the year

(1) 1978 (2) 1974

(3) 2017 (4) 2015

qTeq AT o foher a9 § argi o forw ardier Hife sroamft 2

(1) 1978 (2) 1974

(3) 2017 (4) 2015

Who proposed ‘Client-Centered Therapy’ ?

(1) CarlRogers (2)
(3)  Paul Krugman (4)
e EamefT e IT=T yearad B ?

(1) =TT TSt (2)
(3) T FTHT (4)

The essential characteristics of research :

(1) Description only

(2) Exploration and description

(3) Experimentation

(4) Exploration, experimentation and description

SAHET T AT fFQraars
(1) Fae faEe (2)
(3) s (4)

Who is the author of ‘Pattern of Culture’ ?
(1)  Ruth Benedict (2)

Sigmund Parsons
John Dewy

Rivraee g
S =T

FeaooT 3T faewr
SETIT, T 32 faaor

H. G. Wels
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(3) Karl Young (4)  Dr. M.N. Srinivas
e A Foad [eda & AGH 5

(1) =xaafese (2) TSt A

(3) TS (4) =t uwud fifveaE

was associated with conscientization model.
(1) Max Weber (2)  Paulo Friere

(3) H.B.Trecker (4)  Roul Prebisch
AT AT HISA & AT T 4T |

(1) #FFaaw (2)  Tisar o

(3) uwHdT T (4) o= fufere=

What is the function of the State Finance Commission ?
(1) Making decision about the budget allocation

(2) Deciding about the functional division for the various departments of the state
government

(3) Deciding about the divisible pool between the state government and local bodies
(4) Making a decision about the volume of the public debt of the state government
77 fa s e AT g ?

(1)  =oe Areed & 9L § fAof #3747

(2) o7 g F At e & fore st s & s § ot AT

(3)  TTsF TEETE T T ATt o = e Trfer F e ® Aot #eAr

(4)  TTST FTHTT F TGS F07 T AT & a1 H 77 F747 |
Who has given the theory of Ideal Speech Situation?

(1) Mahatma Gandhi (2)  Jawaharlal Nehru

(3) Jurgen Habermas (4)  Franz Kafka

e smaet Ao Rafa (srefRae fuw feguem) 1 fagia farg 2

(1)  =erewT ey (2)  STHTETAT Ew

(3) NI gaTHTH (4) T FERT

Which scheme is included in the Act providing social security to unorganised labour enacted in
2008 ?

(1) MGNREGA (2)  Janni Suraksha Yojana

(3) Pradhanmantri Gram Sadak Yojana (4) Jandhan Yojana

2008 # sTfArf=rfod seRTisd AsTgl & ATHTSE LT T&TH F aTel AT s H i | T ST T8 & ?
(1) #=om (2)  STAAT FTEAT TTSAT

(3)  TUTHEAT UTH TS FTAT (4) ST TISAT

For how many days employment is being provided under MGNREGA ?

(1) 100 (2) 200

(3) 264 (4) 255

AT & qgd foha fae o forT TSmmme Suerse FarT ST W@ g ?

(1) 100 (2) 200

(3) 264 (4) 255
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What is presented to the citizens during the social audit ?

(1)  Allocation of budget (2)  Vouchers of payments

(3) Benefit to the beneficiaries (4)  All of these

TTATIST AT o ST AT &l 97 T AT JTar g 2

(1) a7 &7 srded (2) A F ATIAT

(3)  ATwTiSt iy A 4) Tasfr

'Social work is a knowledge and skillful professional service.' Who said this statement?
(1) Fid Lender (2) Clerk Helan

(3)  Frink (4)  Sushil Chandra
“HTHTTSIE T U A9 S Aqor smaetas JaT 17 78 F99 " w27 ?

(1) drEe=e (2) FAHgAA

(3) ©OF= (4) Hfsr=m

In Social Work, which goal is included ?

(1) Self-Sufficiency (2)  To strengthen Social relations
(3) To develop Democratic Values (4)  All of these

TTATISME T | I AT A& ATHA g ?

(1) sremtadar (2)  ATHTSTE ST F AN AT |
(3)  AHATE Geat il Awed HAr (4) Fah

The Article entitled Independent institutions has been included in which tenth chapter of United
Nations.

(1)  Article -10A (2)  Article—21A
(3) Article 71 (4)  Article 45
T Y % 9 FLATT H T T HEATT T ATAT T=83 o

(1) s g===10T (2) #g=E2IT
(3) T==ET] (4) FT==EA45

What is the purpose of Mid-day Meal Scheme ?

(1) Higher retention rate in the government schools

(2)  Higher retention rate in the government and private aided schools
(3) Higher retention rate and higher nutritional status of children

(4) Higher retention rate only in aided schools

HEATEA T AT (fe2 #ier whiw) T 3geg FT 8 2

(1) = A=t § 3 9T &7

(2)  ATEHIT 3T A ggrar e e § 39 g 3

(3) gl #T I 9T 3T ST I Ty Fufa

(4) FEw FgrEdT aTH e § 37 9 a7

“Community organization leads to social action and social action may not always leads to
community organisation.” — Is this statement correct ?

(1) correct everywhere (2) wrong
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(3) half truth (4)
Tg FIT AR 8 ?

(1) == (2)
(3) wdHA (4)

What is the sequential order in data analysis process ?

(1) Classification, tabulation, coding, editing
(2)  Tabulation, coding, classification, editing
(3) Coding, editing, classification, tabulation
(4) Editing, coding, classification, tabulation

ZeT farearar ST & sTwiaT #a F T g ?

(1)  ==fiseor, areofiseor, §ea, JaTed (2)  ATTO(RTT, W, ARRLOT, HUTE
(3)  Eehad, HUTES, FI((RL0T, ATLOH LT (4)  HUTEH, Tehad, FHTOT, FTLOHTT
Where is the reputed Management Development Institute (MDI) located in Haryana ?
(1) Gurgaon (2) Rewari

(3) Bhiwani (4)  Kurukshetra

T § =arf wTe yaree faewe e (MDI) #Et Raa g 2

(1) e (2) Yamd

(3) ot (4) T

Where is the Kingdom of Dreams the symbol of Indian art culture situated ?

(1) Rewari (2)  Pinjore

(3) Gurgaon (4)  Sonipat

AT FAT-HEHTT HT T TTSH AF S Figl eaaq g ?

(1) Tt (2) fisi

(3) T (4) =g

When did the Sachar formula take in force ?

(1) October 1949 (2) September 1949

(3) November 1949 (4)  None of these

AT AT F AT G2

(1) reFRaz, 1949 (2) A, 1949

(3) FaFEw, 1949 (4) =AHFFE TRI

Which new divisions have been made in Haryana ?

correct only in developing countries

"HTHRTTH 1o qTHTSR FAaTe! FAl § AT ATHTST H14 gHIT THETT HISH 6T A el Jav 2 1" 7T

U]
e farsrersfier ot # Tar

Panipat and Sonipat
None of these

IO S FAITT
TAH H FIS Al

Rao Inderjit Singh
None

(1) Rohtak and Sirsa (2)

(3) Karnal and Faridabad (4)

AT § FIT-HI | 99 7= (division) s9TT 7T §?2

(1)  Tread & e (2)

(3) FLATH AT FETATS (4)

Whom of the following politician won three Gold medals in SAF Games ?
(1) Abhay Chautala (2)

(3) Sushma Swaraj (4)

fReaferferd & & # § Toifast 7 SAF 77 | 1 =07 2w 979 0 82
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(1) & =verar (2) T EeEESq i
(3) HUHTETS (4)  #rETES

With which of the following profession Rupinder Handa of Sirsa, Haryana is associated?

(1) Music (2)  Direction (Haryanavi Film)
(3) Producer (4)  Singing

T, s F s g M A A S Faa T F AT S g ?

(1) =fha (2) fAEem (ghETrEt fhew)
(3) fAwfar (4) wTEE

Thaneshwar was the capital city of the Kingdom of one of the following famous kings :
(1) Harshwardhan (2)  Ashok

(3) Chandragupta Vikramaditya (4)  Kanishka

AT ATHF T T TG TSI o 1157 T TSTETHT 97?

(1) gvads (2) e

(3) =v=d famaTlae (4) FAww

First time the President’s rule was imposed in Haryana in

(1)  Nov., 1967 (2)  April, 1977

(3) Dec., 1989 (4)  April, 1991

AT | T2\ 72 TP T aR[ 6T 19T =T

(1) FawT, 1967 § (2) &9, 1977

(3) femwax, 1989 % (4) 0, 1991 F

Sohna Car Rally passes through the district of

(1) Sirsa (2) Chandigarh

(3) Gurgaon (4) Ambala

HIEAT FIX L&A1 29 forer 7 fRawerdt &

(1) e (2) ==nE

(3) T=wE (4)  sf=TeT

In which district the Baba Kherewala’s fair is held at Raksha Bandhan ?

(1)  Kurukshetra (2)  Bhiwani

(3) Panipat (4) Ambala

TAT Feee I T Srer | arar == are FT 9t AT 82

(1) F=e (2) fHETh

(3) g (4)  srEETAT

Lord Krishna had preached the sermon of the Gita to Arjun at which pilgrimage in Kurukshetra ?
(1) Markandeya Pilgrimage (2)  Jyotisar

(3) Brahm Kund (4)  Kaleshwar Pilgrimage

AT O A ST 7 AT 6 ST Toer= | o o eq1e 9 wat=a fFu?
(1)  wTHRveT et (2) sEfoET
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3) =EFF= (4) FTLAT AT

In which of the following district Kalesar National Park is situated ?

(1)  Kurukshetra (2) Gurgaon

(3) Hisar (4) Yamunanagar
Forer # 2 Py et 3 Ao T ST AR 27

(1) FeaH (2) TEEH

(3) fREw#H (4) FHAH
Mahamud Gaznavi attacked on Thanesar in

(1) 1013 A.D. (2) 1014 A.D.

(3) 1016 A.D. (4) 1017 A.D.
HEHE ST o ATAHT I Fd SATHAOT /AT 7?2

(1) = 1013# 2 = 1014¥

(3) = 1016# (4) = 1017#
Which of the following factories are established at Faridabad ?

(1)  Rubber Tyre (2)  Tractor

(3) Refrigerator (4)  All of these
wraraTe | 9 § | i € St eanfud g2

(1) T (2) FX

(3) Ifheeex 4) Fasf
North-South Corridor passes through all of the following districts of Haryana State, except :
(1)  Panchkula (2)  Ambala

(3) Karnal (4)  Sonipat

AT ARSI ZRATOT 1157 % =4 a4 ™ot & Feperar g, e

(1) =g (2)  sfETen

(3) FATT (4) =
Ministry of Excise & Taxation, Govt. of Haryana is headed by

(1) Capt. Abhimanyu (2)  Nayab Singh
(3) Manohar Lal (4) Karan Dev Kamboj
RATOT T H ST TAT FLLTT HATAT heTehl H9T 74T 82

(1) Few afmey (2) T e

(3)  HATETAT (4) T 3 FES
Bharat Starch & Chemical Limited was established in Yamunanagar in the year
(2) 1972 (2) 1938

(3) 1929 (4) 1969
THATAT § ATIA FeTH Ud hHEw (A0S T #1136 a9 | g2 of?

(1) 1972 (2) 1938

(3) 1929 (4) 1969

National Highway No. 1 from Delhi to Amritsar is also known as
(1)  Shershah Suri Marg (2)  Shahjahan Marg
(3) FerozTughlag Marg (4)  None of these
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Taoeft & SIaee ST aTeT T T 4. 1 36 919 F §ff SI|T1 Srar 8

(1) aweme T A (2)  emESTEf AT

(3) RSt et Wt 4) TR FFE A

All of the following are rivers of the Haryana State, except :

(1) Ghaggar (2)  Dohan

(3) Kotla (4) Indori

3 afy g oo & afe=t g, fam

(1) === (2) =red

(3) e 4) ==rE

The capital city of Chandigarh derives its name from

(1)  The River Chandi (2)  Fort of Chandi Das
(3) Chandi Mandir (4)  None of these
TISTETAT (T AUERTE T 917 T g 8

(1) =vSradrH (2) AR & oot 7

(3) =vErHRTH (4) =AH T EE T

With which form of art Pd. Mangeram is related ?

(1) Saang Tradition (2)  Education and Literature
(3) Wwall writing (4)  None of these

T, HTH T qFae FefT #f o6 fFara g ?

(1) =T 9 (2) forama AR

(3) il e (4) EAHH L AL
Which hospital of Gurgoan was in news for causing death by negligence of 7 year old dengue
patient ?

(1)  Fortis (2)  Zydus

(3) Cadila (4) Torrent

RS T AT AT SETATA 7 AW o 3 AL il ATILATGT o FHILOT JF 6 ATHA H GHATATL F AT?
(1) wfes (2) <T==Ew

(3) = (4) @z

In which district of Haryana tomb of Gulam ruler Razia Sultana is situated ?
(1) Hisar (2) Mahendragarh

(3) Kaithal (4)  Ambala

TATH ITHe TISTAT odTe T Heha<T gaTor & e forer § fRord g2

(1) e (2) wExTE

(3) e (4)  FrE=TET

Which district of Haryana does not share its boundary with Uttar Pradesh ?
(1) Karnal (2)  Sonipat

(3) Faridabad (4) Jind

AT 7 i |7 fSreAT ST T=9r 3 |7 STt TAT qrAT A1 FIAT?
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(1) FT (2) =

(3) wETmETR (4) ff=

Whom of the following earned the title 'Heroine of 1942' in Quit India Movement ?
(1)  Sarojini Naidu (2)  Annie Besant
(3)  Aruna Asaf Ali (4)  Kasturba
AL BIST AR % a1 (e TBIre Aiw 1942' it 3urfer a1e 2572

(1) =i A (2) uATEHE

(3)  STHUIT 3EF AT (4) FEEaT
Kunvar Narayan, who passed away recently, was associated with
(1)  Politics (2)  Sports

(3) Music (4) Poetry

FaT A, ST 2T g # e gan, M g avateaa o

(1) Tt (2) @@=

(3) & (4) ==A

Which country has recently declared Yoga as sports activity ?

(1) Germany (2)  Saudi Arabia
(3) U.ALE. (4) China

ToFe T9T 7 BT 1 § T 7 & Tiafafer & &9 § =Jrivq g ?

(1) ST (2) wIrIE
(3) e arva e (4)

When was the East India Company established ?

(1) 1700 A.D. (2) 1500 A.D.
(3) 1600 A.D. (4) 1800 A.D.
$¥e SRAT FAAT e TATAT AT T2 off ?

(1) =& 1700 (2) =& 1500

(3) =& 1600 (4) =¥ 1800

Who is the author of the 'Rama-Charitmanas' ?

(1) Kalidas (2)  Tulsidas
(3) Jaydev (4)  Vvalmiki
AT % AT A9 g ?

(1)  =rforem (2) qEHEE
(3) == (4) areHitH

Complete the series :
B, BA, ABA, ABAA, AABAA, ? , AAABAAA

(1)  AABAAA (2)  AAABAA

(3) AABAAB (4)  None of these
Sroff ot Frfor

B, BA, ABA, ABAA, AABAA, ? , AAABAAA

(1)  AABAAA (2)  AAABAA

(3) AABAAB (4) TAH T FE TE
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X, 33, 99, 297, 891, then the value of Xis

(1) 1 (2)
(3) 22 (4)
X, 33,99,297,891, AAXFT A G

(1) 1 (2)
(3) 22 (4)

Arrange the organs of the body from bottom to top :
Nose

Ankle

Knee

Elbow

. Eyes

(1) 23415 (2)
(3) 24153 (4)
o 1w o< 3 STt &y 0= & ofrd e s R it
CIED

gAT

AT

5'5. &
5. st

(1) 23415 (2)
(3) 24153 (4)

R wWwN e

hobd=~

Choose the word which is different from the rest.

(1)  Shuttle (2)
(3) Bat (4)
I 9158 Tl A ST AT F FHAE |

(1) sre= 2)
(3) = (4)

Find the average of the following set of scores :
125, 857, 332, 226

(1) 386 (2)
(3) 384 (4)
erferferd == & " 7 &fed A1 Fiore -

125, 857, 332, 226

(1) 386 (2)
(3) 384 (4)
The number 2017 is

(1) rational number (2)
(3) prime (4)
T 2017 8

(1) ofw e (2)

(3) eroTsH (4)

12
24

12
24

25413
34512

25413
34512

Ball
Stump

385
None of these

385
T AIE T

composite prime
None of these

T AATST

T | AL TE
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8 children and 12 men complete a certain piece of work in 9 days. If each child takes twice the
time taken by a man to finish the work, in how many days will 12 men finish the same work ?
(1) 8 (2) 15

(3) 9 (4) 12

8 91g ¥ 12 =0 FohHT Fragve 7 O faAt & T F3d € | AT Tl JTere v 0 YT F3ed | TET 67 STaeT
AT THT AT 8T, T ST A1 0 12 THET % FIT foha e oot § qHTed T STus ?

(1) 8 (2) 15

(3) 9 (4) 12

A man sells an article at 5% profit. If he had bought it at 5% less and sold it for " 1 less, he would
have gained 10%. Find the cost price.

(1) 180 (2) 200

(3) 280 (4) 320

U ST (T T &l 5% ATH T2 J=aT g | (< I TH 5% FH I GET gIaT 3T =6 1 7 FHIHd 97
FFAAT AT 3H 10% ATH GAT AT | JEHAT AT I HA AT 11977 |

(1) "180 (2) 200

(3) "280 (4) 320

Baking Soda is

(1) Sodium Hydrogen Carbonate (2)  Sodium Carbonate
(3) Sodium Tartrate (4)  None of these
ST AT 2

(1) HIETH RS FrEe (2) HIfeTaw FEMEe
(3) #Hfewwere (4) TAH T FE T
The endocrine gland situated on the top of kidney is

(1) Adrenal (2)  Pancreas

(3) Thyroid (4) Hypothalamus
& % oY ux fourd siaq-=met afr g

(1) e (2)  sFEeETeT

(3) wmEdizE (4)  EEIEEHE
The least distance of distinct vision for a normal eye is

(1) 25cm (2) 35cm

(3) 45cm (4) 55cm

T HTHTT AG 6 [olT eT 39 6l a0 0 8

(1) 25%Hr (2) 35%Hr

(3) 45 (4) 558
Supply suitable article in the following blank if needed :

| took umbrella to go out in the rain.

(1) a (2) an

(3) the (4) noarticle

Supply suitable preposition in the following blank :
The plane takes off 5a.m.


https://haryanajobs.in

93.

94.

95.

96.

97.

98.

99.

100.

https://haryanajobs.in

(1) in (2) at
(3) on (4)  within

Give one word substitute for the following expression :
is an examination of tissue removed from a living body to discover the presence,
cause or extent of a disease.

(1) Axiom (2)  Allegory
(3) Biopsy (4) Ephemeral

Select the word from the following that is most similar in meaning to the word in capital letters :
FASCINATING

(1) Clever (2)  Uniform
(3) Charming (4) Boring

Select the word from the following that is opposite in meaning to the word in capital letters :
VETERAN

(1) Modern (2) Weak
(3) Worn (4) Amateur
HET + SroTeat i §fT g

(1) wErsTEt (2) wErSTET
(3) wErsreAT (4)  wEISTEAT
TS(TaE 957 H Al 97 IIT A5 ?

(1) = (2) =<

(3) =mEe 4) SmEe
TR 7 ATHTRE &g § 2

(1) s FfFmae (2) WM E A
(3) WMHTe (4) TFTETE
% 5 & I € Fat get Al g ?

(1) ssifas (2) aferss

(3) waTsTfaw (4)  rfdromo
HUIT Tohe AT (o107 If=ra qegraer g

(1) =7 TrEAT (2)  ATHE =TT FAET

(3) AT AT FA=T (4)  TTF § T FAT
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